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new
s.

�

the
LA

S
T

day
to

C
H

A
N

G
E

orS
IG

N
U

P
for

a
R

E
C

ITA
T

IO
N

is
this

F
riday

F
eb

8
by

6A
M

�

here’s
w

hatyou
do:

–
go

to
the

“hum
an

help”link
on

the
classw

eb
page

–
find

a
recitation

thatyou
can

attendand
getthe

TA
’s

em
ailaddress

–
if

you
are

N
E

W
and

firstsigning
up

for
a

recitation,
sendem

ailto
the

TA
and

C
C

m
e

–
if

you
are

C
H

A
N

G
IN

G
recitation,

sendem
ailto

B
O

T
H

the
old

TA
and

the
new

TA
,and

C
C

m
e
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m
athem

aticaloperators.
�

unaryplus

�

unarym
inus

�

addition

�

subtraction

�

m
ultiplication

�

division

�

m
odulo

exam
ple:

i
n
t
x
,
y
;

x
=
-
5
;

y
=
x
*
7
;

y
=
y
+
3
;

x
=
x
*
-
2
;

y
=
x
/
1
9
;

w
hatare

x
and

y
equalto?

m
odulo

m
eans“rem

ainderafterintegerdivision”
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coercion
ortype

casting.
�

rem
em

berfrom
lasttim

e:dataoftype
c
h
a
r

is
storedasa

num
ber—

w
hich

is
really

an
index

into
the

A
S

C
IItable

�

a
declaration

lik
e

this:

c
h
a
r

y
=
’
A
’
;

really
storesa

65
(the

A
S

C
IIvalue

of’A
’)

in
a

m
em

ory
location

thatis
labeled

y

�

you
can

do
m

ath
on

that65
by

coercing
(aka

type
casting)

the
c
h
a
r

to
an
i
n
t

�

for
exam

ple:

c
h
a
r

y
=
’
A
’
;

/
/
i
n
i
t
i
a
l
i
z
e

v
a
r
i
a
b
l
e
y
t
o

s
t
o
r
e
a
n
A

i
n
t

x
=
(
i
n
t
)
y
;

/
/
i
n
i
t
i
a
l
i
z
e

v
a
r
i
a
b
l
e
x
t
o

s
t
o
r
e
6
5

x
=

x
+
1
;

/
/
i
n
c
r
e
m
e
n
t

x
(
t
o
6
6
)

y
=

(
c
h
a
r
)
x
;

/
/
c
o
e
r
c
e
x
f
r
o
m

a
n
i
n
t
t
o

a
c
h
a
r
(
’
B
’
)
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booleanexpressions.
�

booleanvariables:t
r
u
e

(1)or
f
a
l
s
e

(0)

�

logicaloperators:

�

not

�
�

and

��

or
exam

ple:

b
o
o
l
e
a
n
a
,
b
;

x
=
1
;
/
/
t
r
u
e

y
=
0
;
/
/
f
a
l
s
e

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x
&
&

y
i
s
f
a
l
s
e
"
)
;

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x
|
|

y
i
s
t
r
u
e
"
)
;

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x
&
&

!
y
i
s
t
r
u
e
"
)
;
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truth
tables.

a

� a
false

true
true

false

a
b

a

�
�

b
true

true
true

true
false

false
false

true
false

false
false

false

a
b

a

�� b
true

true
true

true
false

true
false

true
true

false
false

false
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relationaloperators.

=
=

equality
!=

inequality

	

greaterthan




lessthan

	��

greaterthan
orequalto


��

Lessthan
orequalto

exam
ple:

i
n
t
x
,
y
;

x
=
-
5
;

y
=
7
;

som
etruths:

(
x




y
)

true
(
x �

�

y
)

false
(
x

	��

y
)

false
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the
i
f

branchingstatem
ent.

i
f
(
x
<
y

)
{

x
=
y
;

}

i
f
(
x
<
y
)

{
x
=
y
;

}e
l
s
e
{

x
=
9
1
;

}
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